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% T = A HECOD)
NSRS 1 = 389,000
R B U A 1 = 150,000
Pl S 5t 1 e 68,500
BEETRF 1 = 76,000
LK% 1 = 85,000
BERALIERS 1 eS| 70,000
To R S R 1 = 255,000
S A AR B 1 = 82,000
B REREE 1 = 140,000
Ffotk 1 =z 180,000
Ffir =R G EIf% 1 2 193,000
LRI 1 = 110,280
5[ 1 i 690,000
A LT 1 =4 186,000
LR e 1 = 258,000
RIMErEFE 1 = 74,000
PR CapIniTs 1 = 190,000
£ EA i R O 1 = 230,000
RS E R 1 e 80,000
W EE RAS AR R R 2140 1 = 99,500
rREE 1 = 55,000
sZE% 1 2 53,000
HEPE A % 1 = 160,000
78 4 B o 1 = 225,000
Fh AR 1 JEE 97,000
TR EEEE R 1 = 65,000
KEREEET 1 = 150,000
NNELT A 1 = 290,000
EEHS [ 1 =4 80,000
Pl BN 1 =z 65,000
VIEYENSENS 1 = 112,000
SEJ sl 1 = 550,000
BN R ARG E RIS 1 = 188,055
Bkl taaani 1 = 65,000
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% T = B iz HECOD)
HIL B R 1 =z 75,000
RN r{ma b NE e 1 4H 85,544
HREE 1 = 59,000
EEJEEE 1 = 380,000
FHEEE T — S bR EE 1 = 1,080,000
fps e 2B T 1 = 234,000
H AR 1 = 88,000
it | 1 & 70,000
Tt a5 1 =R 111,000
T 9BLL £aari 1 H 64,000
b Mg R 1 = 60,000
FEN% 1 z 113,000
JEEH7 4% 1 4H 150,000
s e SR i 1 4H 878,000
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